SAP ABAP table CPET BSP CRM DEFTERM COM {CPE - FrmMnt - Com Structure for Default Term}

CPET BSP_CRM_DEFTERM COM-CALCRULE = CPEC_CALCRULE-CALCRULE
e R iy . CPEC_CALCRULE

o -~ _ [CLIENT [CLNT (3)]

- LOGSYS [CHAR (10)]
.- CALCRULE [CHAR (5)]

L7 VALIDTO [CHAR (14)]

2 _--- ——- CPEC_PERIODDET
)/ - 0..N | CLIENT [CLNT (3)]
/ -7 LOGSYS [CHAR (10)]
PERIODDETRULE [CHAR (5)]
VALIDTO [CHAR (14)]

e _ -

-7 CPEC_PRCFIXRULE
CLIENT [CLNT (3)]
__________________ 0..N | LOGSYS [CHAR (10)]
o--mT T PRICEFIXRULE [CHAR (5)]
o VALIDTO [CHAR (14)]

-7 CPEC_ROUTINE

- CLIENT [CLNT (3)]
LOGSYS [CHAR (10)]
CPET BSP CRM DEFTERM COM-TERMTYPE = CPEC ROUTINE-CPE _ROUTINE __ o-N |CPE_MODULE [CHAR (2)]

-~ SUBMODULE [CHAR (2)]
-7 CPE_ROUTINE [NUMC (7)]

--77 CPEC_SURCHARGE

-7 CLIENT [CLNT (3)]

CPET BSP CRM DEFTERM COM-SURCHARGERULE = CPEC SURCHARGE-SURCHARGERULE 0 LOGSYS [CHAR (10)]

SURCHARGERULE [CHAR (5)]

——————————————————————————— VALIDTO [CHAR (14)]

CPEC_TERMRULE
CLIENT [CLNT (3)]

CPET BSP CRM DEFTERM COM-PERDTIN GUID C = CPED PERIODDTIN-CLIENT 0..N | LOGSYS [CHAR (10)]
- TERMRULE [CHAR (5)]

- _ VALIDTO [CHAR (14)]

_— -
—_
-~ -
-

CPET BSP CRM DEFTERM COM-PERDTIN GUID Q = CPED PERIODDTIN-CLIENT 1 CPED_PERIODDTIN

CLIENT [CLNT (3)]

PERIODDTIN_GUID [RAW (16)]

__________________________________________________ TOOG6
MANDT [CLNT (3)]
~ 0-N |MSEHI [UNIT (3)]

e ) TCURC
MANDT [CLNT (3)]
WAERS [CUKY (5)]

—_— - =
—~ - — — — —




